Captain
1545 134648

2023-2024



Ref:1545_134648

1 270X25 MM X1 11
2 60X24X25 MM X2 111
3 Dia52x50 MM X1 1
4 Dia65x78 MM X3 1
5 100x80x30 MM X1 11
6 380xDia245 MM X1 11
7 213x115x10 MM X1 11

85x23x3 MM X2 7

9 ﬁ 270x170x20 MM X2 7

10 % 340x210x3x2 MM X 1 11

N,
1 l/ 170x100x54 MM X 1 10

12 200x170x54 MM X 1 11

A 0 M5X25 X6 1/1
B am@ M5X10 X2 11
c am@® 0 M6X10 X7 111
D M4X16 X2 111

E amm@® D M6X15 X8 111




Ref:1545_134648

FR : SAV/INFORMATION /VIDEO/CONTACT

EN: AFTER-SALES SERVICE/INFORMATION/VIDEO/CONTACT

DE : REPARATUR-SERVICE UND ERSATZTEILE /INFORMATIONEN /VIDEO/KONTAKT

ES: SERVICIO POST-VENTA/INFORMACI N/VIDEO/CONTACTO

IT: SERVIZIO ASSISTENZA/INFORMAZIONI/VIDEO/CONTATTO _
PT: SERVICO P S-VENDA/INFORMAGOES/VIDEQ/CONTATO

PL: SERWIS TECHNICZNY/INFORMACJE/WIDEO/KONTAKT

NE: AFTER SALES SERVICE/INFORMATIE/VIDEO/CONTACT

HE: 78N win md>n/nTy /nany/npwn vo



Ref:1545 134648




Ref:1545 134648

Step 1

A M5X25 ez @ 6PCS
C M6X10 = @ 2PCS

C M6X10 me @ S5PCS



Ref:1545 134648




